[ of associated (recoTosim) duplicate tracks vs hit_]

[N of associated (recoToSim) tracks vs hit_|

N of reco track vs hit

o 0 o
S N o 4 I
= [ [
> > ]
LD
o M & B 3
o < o) ©
o = S 2 &
] = — o — <
_M N x [z N
ITe} g k) I &8
2 .. 1o : £ H B
o ¢ H o
N 2 el —
Lo S s H co
— g £
3 3 ©
=1 £ 5
] £ H
Lo L g &
o Ludo 8 B
2 S g g
= s 5
H z
soeus sreondnp oney sxoel areandnp R -
o
< 4 & 4
H H H H H H k= 9] o
> >
LD
™ M © &
~ =
g S (9]
o - X
2 g =1
3
[Te}
& g
o
N
= R
==
e
I =}
—— —
= ol
5
PR ks [Te)
B3
Lo
5
Syoel) aey oney Syoel) xRy oney syoel axe} oney
S 9 T & o © 0 I
= . [ o
. > > Jo
Ire) . .
] M K] ~ @ —
I o % T e e ©
o N 8 cdo 2 —
(el + = — o — <
W # 4 T o S 5 B
ITe) —— 3 e § 2
N0 B =R g |; S
D . . IW 3 | . < 8
R P : : o] 2 : 1=
H . o 2 | H
: o || . pu :uT:.-m g T g Joo
: ) oo L £ [ B
= : : o [ o~ 2 o
: o D : : s e I g
' — . 'S 8
L [EEREE L s s ) 3 Il g N
: >, > : o < | 3
0 = O : : = 3 ]
R : R >0 . . . ] | g o
: : : : =) : : : . ] S g
[FTITR PITPITIN FTPIEN o1, 1 . PP P PP [P L H L |4 [ PP PPTIPIE PTTI PRTPITEE PYTITITIN PTPI 1
= N =) — = £ ) =3 > — = = 4 = 8 I 3 o o o] = = (o]
o o =1 > I = o = 3 B ] i . 5 o o o o =1 B .
— — 4 o OO — — 4 <] : S 2 — — — — E o
syoel} any oney Qo syoeln ani oney L= syoen anp oney L] syoen ann oney
B, |
ESSe
m P oo < o0 n Q
= mre : 7} 5] o
— . > >
LD P B A E R
] dU_ m o —
o o o) ©
o NS e £ =
[} f = =3 <t
t
i 5 —
0 —h—
~ B — £ —
o F 5 B ol
59 H_.I B 9] e i =1
C = 3 -
(=1 ™ T
o 2 i ¢ 2 Fle
— . . . ?.. x ™ -
S R R HE EEEES SR 1) © s} e
5 : E o+ s g b4
[fe] = : . b = =
<} N N . ] o N
8 i sy | i g ] i
s & S P i o g 2 o i s
> ] [=} S =1 > » ] 5 (=) >
(=] P - - - (=] = = - (=]
syoen oney syoeln olyey = syoen =l syoen oney

track 3D layers

track 3D layers

track 3D layers

track 3D layers



	Contents
	Page 1


